

# HENRY PARK PRIMARY SCHOOL PRIMARY 6 (GEP) BOOKLIST FOR YEAR 2026

P6 (GEP)

Name of Pupil:	Class:
----------------	--------

## A. Textbooks/Workbooks

Subject	Title of Book	Publisher	Tick	Price\$	S.Total\$
English Language	PSLE English Exam Papers (2023-2025) NEW!	EPH		NFY	
	Friedrich (By: Richter, Hans Peter)	PM Associates		14.10	14.10
Mathematics	PSLE Maths (Yearly) Exam Papers (2023-2025) NEW!	EPH		NFY	0.00
Science	PSLE Science (Yearly) Exam Papers (2023-2025) NEW!	EPH		NFY	
	P6(GEP) Questor Series - Interactions & Energy (7 Booklets)	Vitamindz		23.10	
	(Conversion/ Friction, Gravity & Forces/Adaptaton/ Photosynthesis				
	Man's impact/Population & Communities/ Web of life)				
	Inspiring Science P6 Textbook (Standard) NEW!	Marshall C		3.15	26.25
Social Studies	Social Studies Textbook 6A	Star Pub		2.60	
	Social Studies Textbook 6B	Star Pub		2.50	5.10
Physical and	My Physical Education Journal P6	Marshall C		2.00	
Health Education					2.00
CCE (FTGP)	Character and Citizenship Education (Form Teacher Guidance Period) P6	Marshall C		2.85	2.85
Higher Chinese	PSLE Higher Chinese Exam Papers (2023-2025) NEW!	EPH		NFY	
Language (HCL)	PSLE Chinese Exam Papers (2023-2025) NEW!	EPH		NFY	1
0 0 ( )	Higher Chinese For Pri Schools (欢乐伙伴)Textbook 6A	Marshall C		3.55	1
	Higher Chinese For Pri Schools (欢乐伙伴)Textbook 6B	Marshall C		3.45	
	Higher Chinese For Pri Schools (欢乐伙伴) Activity Book 6A	Marshall C		3.40	1
	Higher Chinese For Pri Schools (欢乐伙伴) Activity Book 6B	Marshall C		3.40	
	PUPILS TAKING HCL NEED NOT BUY STANDARD CHINESE BOOKS				13.80
Chinese Language	PSLE Chinese Exam Papers (2023-2025) NEW!	EPH		NFY	
(CL)	Chinese Language For Pri Schools (欢乐伙伴) Textbook 6A	Marshall C		3.30	1
()	Chinese Language For Pri Schools (欢乐伙伴) Textbook 6B	Marshall C		3.15	1
	Chinese Language For Pri Schools (欢乐伙伴) Activity Book 6A	Marshall C		3.10	1
	Chinese Language For Pri Schools (欢乐伙伴) Activity Book 6B	Marshall C		2.95	12.50
Higher Malay	PSLE Higher Malay Exam Papers (2023-2025) NEW!	EPH		NFY	
Language (HML)	PSLE Malay Exam Papers (2023-2025) NEW!	EPH		NFY	1
(Only For Pupils	Higher Malay Language For Pri Sch (Cekap) Textbook 6A	Marshall C		4.50	1
Taking HML)	Higher Malay Language For Pri Sch (Cekap) Textbook 6B	Marshall C		4.25	1
·-·····g · ····/	Higher Malay Language For Pri Sch (Cekap) Activity Book 6A	Marshall C		4.10	1
	Higher Malay Language For Pri Sch (Cekap) Activity Book 6B	Marshall C		3.80	1
	Primary School Oral Video Study Guide (Malay Language)	Dragon Univ		16.40	1
	(Already purchased in P5)	Bragon oniv		10.10	
	PUPILS TAKING HML NEED NOT BUY STANDARD MALAY BOOKS				33.05
Malay Language	PSLE Malay Exam Papers (2023-2025) NEW!	EPH		NFY	00.00
(ML)	Malay Language For Pri Sch (Cekap) Textbook 6A	Marshall C		3.55	1
(IVIL)	Malay Language For Pri Sch (Cekap) Textbook 6B	Marshall C		3.30	1
	Malay Language For Pri Sch (Cekap) Activity Book 6A	Marshall C		3.30	1
	Malay Language For Pri Sch (Cekap) Activity Book 6B	Marshall C		2.95	1
	Primary School Oral Video Study Guide (Malay Language)	Dragon Univ		16.40	1
	(Already purchased in P5)	Bragon oniv		10.10	29.50
Higher Tamil	PSLE Higher Tamil Exam Papers (2023-2025) NEW!	EPH		NFY	20.00
Language (HTL)	PSLE Tamil Exam Papers (2023-2025) NEW!	EPH		NFY	1
Language (ITIL)	Higher Tamil Language For Pri Sch (Theen Thamizh) Textbook 6A	Marshall C		3.65	1
	Higher Tamil Language For Pri Sch (Theen Thamizh) Textbook 6B	Marshall C		3.45	7.10
Tamil Language	PSLE Tamil Exam Papers (2023-2025) NEW!	EPH		NFY	7.10
(TL)	Tamil Language For Pri Sch (Theen Thamizh) Textbook 6A	Marshall C		3.65	1
( /	Tamil Language For Pri Sch (Theen Thamizh) Textbook 6B	Marshall C	1	3.50	†
	Tamil Language For Pri Sch (Theen Thamizh) Workbook 6A	Marshall C		3.90	†
	Tamil Language For Pri Sch (Theen Thamizh) Workbook 6B	Marshall C	1	3.65	†
	Tamil Language For Pri Sch (Theen Thamizh) Student Reader 6A Bk 1-4	Marshall C	1	6.40	†
	Tamil Language For Pri Sch (Theen Thamizh) Student Reader 6B Bk 1-4	Marshall C	1	6.40	27.50
Reference	Primary Mathematics Practice Book 6 NEW	Star Pub		5.10	21.00
Optional Items	iRead News Junior 3 (Pri) 我爱读报 3 (小学)	Marshall C	1	7.90	1
optional itoms	iRead News Junior 4 (Pri) 我爱读报 4 (小学)	Marshall C	+	7.90	20.90
	Inteductions Julion + (i ii) 以及医派 + (小子)	iviai si iaii C	1	1.50	20.50



# HENRY PARK PRIMARY SCHOOL PRIMARY 6 (GEP) BOOKLIST FOR YEAR 2026

P6 (GEP)

Name of Pupil :	Class:	

#### Remarks |

- 1) Parents are strongly encouraged to purchase through school bookshop or pre-order via our website: www.pacificbookstores.com to ensure correct edition of books.
- 2) If you are purchasing from the bookshop with the booklist, please tick neatly the items required. Please note that items purchased are non-refundable. For exchanges, please do so at the school bookshop within 1 week of purchase with this booklist and official receipt. Please note that items to be exchanged are to be in original condition.
- 3) Price stated is inclusive of GST (GST Reg No. 199905993R). NFY stands for item price Not Fixed Yet
- 4) \* denotes books final year used by MOE in year 2026.



Total amount of purchase for all Sections = \_\_\_

# HENRY PARK PRIMARY SCHOOL PRIMARY 6 (GEP) STATIONERY LIST FOR YEAR 2026

P6 (GEP)

HPPS AS Single Line Exercise Book (FSC)	Name of Pupil : Class:				
General	P. Evereiro Poeko & Stationery (Compulsory Itama)				
IFPS SUddent Name Taig (1 set of 6pcs)   1		OTV	Tick	Drico\$	Total\$
Name tag will be distributed in class by teacher when it is ready			TICK	-	
Earploce With Pouch		'		7.40	7.40
Thermometer		1		9.00	9.00
HPPS Exam Pad   HPPS AS Single Line Exercise Book (FSC)					
HPPS AS Single Line Exercise Book (FSC)					
Casio Scientific Calculator FX-97SC X (UP: \$35.50) (Already Purchased in P5)					
Heik The Cambridge Maris Set B44000 (Already Purchased in P3)					
BZD Subject File With 5 Colour Divider (Bue)- English   1					
BZD Subject File With 5 Colour Divider (Green) - Science   1   4.70   4.70   4.70   4.70   5.00	· · · · · · · · · · · · · · · · · · ·				
BZD Subject File With 5 Colour Divider (Yellow) - Social Studies   1					
Sub Total   83.10					
Chinese Language	OZD Subject File With 5 Colour Divider (Fellow) - Social Studies	ı	C		
HPPS AS Medium Square Exercise Book (FSC)			Sui	o iotai [	83.10
HPPS AS Medium Square Exercise Book (FSC)	Chinese Language	QTY	Tick	Price\$	Total\$
HPPS Chinese Compo Pad   1					
SZD Subject File With 5 Colour Divider (Purple) - Mother Tongue	· · · /				
Besta Al Pass 6 Chinese E-Dictionary PURCHASE IN P4, NO NEED TO PURCHASE IN P6					
E-DICTIONARY PURCHASED IN P4, NO NEED TO PURCHASE IN P6					
Malay Language		'		70.50	70.50
HPPS AS Single Line Exercise Book (FSC)			Sul	b Total	80.00
HPPS AS Single Line Exercise Book (FSC)					
Ad Management File-P18 Purple   1	Malay Language	QTY	Tick	Price\$	Total\$
22 Subject File With 5 Colour Divider (Purple) - Mother Tongue   1   4.70   4.70	HPPS A5 Single Line Exercise Book (FSC)	1		0.80	0.80
Xamus Dewan Edisi Keempat Paperback (Malay Dictionary) (ALREADY PURCHASED IN P4)   1   28.20   28.20   35.30	A4 Management File-P18 Purple	1		1.60	1.60
Tamil Language	82D Subject File With 5 Colour Divider (Purple) - Mother Tongue	1		4.70	4.70
Tamil Language	Kamus Dewan Edisi Keempat Paperback (Malay Dictionary) (ALREADY PURCHASED IN P4)	1		28.20	28.20
HPPS A5 Single Line Exercise Book (FSC) 2 0.80 1.60 A4 Management File-P18 Purple 1 1 0.60 1.60 82D Subject File With 5 Colour Divider (Purple) - Mother Tongue 1 1 0.4.70 4.70 4.70 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1			Sul	b Total	35.30
HPPS A5 Single Line Exercise Book (FSC) 2 0.80 1.60 A4 Management File-P18 Purple 1 1 0.60 1.60 82D Subject File With 5 Colour Divider (Purple) - Mother Tongue 1 1 0.4.70 4.70 4.70 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1					
A4 Management File-P18 Purple 82D Subject File With 5 Colour Divider (Purple) - Mother Tongue  A7 Materials (Compulsory Items) ESPP Drawing Block 15 Inch x11 Inch, 135gsm 1 2.10 2.10 A4 Construction Paper 120G 20's 1 2.20 A4 Construction Paper 120G 20's 1 2.20 A5 AS Sketch Book 1 1 2.20 2.90 HPPS A4 Sketch Book 1 1 4.40 4.40 Bostik Glue Stick 8g 1 1 1.70 1.70 Edu3 Triangular Col Pencil 12 Cols 1 1 2.20 EDU3 Water-Coloured Paint 14 Cols + Brush Pen (UP: \$ 9.50) 1 7.90  Total amount for Section B =  C. Optional Items  C. Optional Items  Tems 20 QTY Tick Price\$ Total\$ A3 20 Pockets Clear Holder 1 8.30 8.30 A3 Art Bag 1 9.90 Apron (Dark Blue) 1 9.90 9.90 Apron (Dark Blue) 1 1 0.50 6.50 Staedtler Safety Scissor (UP: \$2.10) 1 1 0.70 Edu3 Nylon Student Artist Art Brush X3 (Size R6, R10, F22) In Polybag 1 1 6.90 6.90 PP A5 Exercise Book Cover (10pcs) 1 1 5.50 5.50 Textbook & Workbook Cover for Primary 5 & 6 1 1 1.30 0.40 Total Color Plastic Fastener 1 1 1.00 1.70 Total Plot Back To School Set 2026 Primary (UP TO: \$14.93) 1.70 Total Color Plastic Last Color Plastic Fastener 1 1 1.70 Total Color Pla			Tick	1	
2					
Sub Total   7.90					
Art Materials (Compulsory Items)	82D Subject File With 5 Colour Divider (Purple) - Mother Tongue	1			
ESPP Drawing Block 15 Inch x11 Inch, 135gsm			Sul	b Total	7.90
ESPP Drawing Block 15 Inch x11 Inch, 135gsm	Art Materials (Compulsory Itams)	OTV	Tick	Drico\$	Total\$
A4 Construction Paper 120G 20's  HPPS A4 Sketch Book  1			HCK		
HPPS A4 Sketch Book Bostik Glue Stick 8g 1 1 1.70 Edu3 Triangular Col Pencil 12 Cols EDU3 Water-Coloured Paint 14 Cols + Brush Pen (UP: \$ 9.50)  Total amount for Section B =  C. Optional Items  Items	<u> </u>				
Bostik Glue Stick 8g					
Edu3 Triangular Col Pencil 12 Cols					
Total amount for Section B =					
Total amount for Section B =					
Total amount for Section B =	EDU3 Water-Coloured Paint 14 Cols + Brush Pen (UP: \$ 9.50)	1			
C. Optional Items           Items         QTY         Tick         Price\$         Total\$           A3 20 Pockets Clear Holder         1         8.30         8.30           A3 Art Bag         1         9.90         9.90           Apron (Dark Blue)         1         6.50         6.50           Staedtler Safety Scissor (UP: \$2.10)         1         1.70         1.70           Edu3 Nylon Student Artist Art Brush X3 (Size R6, R10, F22) In Polybag         1         6.90         6.90           PP A5 Exercise Book Cover (10pcs)         1         2.90         2.90           PVC Book Wrapper Roll 13.5 Inch x 10M         1         5.50         5.50           Textbook & Workbook Cover for Primary 5 & 6         1         13.60         13.60           A4 Plastic Whiteboard Set         1         4.90         4.90           7 in1 Color Plastic Fastener         1         1.70         1.70           Pilot Back To School Set 2026 Primary (UP TO: \$14.93)         1         7.60         7.60           Sock- Plain Size L         3         2.50         7.50           Sock- Plain (Pr) Size XL         3         2.50         7.50			Sui	o iotai [	22.70
C. Optional Items           Items         QTY         Tick         Price\$         Total\$           A3 20 Pockets Clear Holder         1         8.30         8.30           A3 Art Bag         1         9.90         9.90           Apron (Dark Blue)         1         6.50         6.50           Staedtler Safety Scissor (UP: \$2.10)         1         1.70         1.70           Edu3 Nylon Student Artist Art Brush X3 (Size R6, R10, F22) In Polybag         1         6.90         6.90           PP A5 Exercise Book Cover (10pcs)         1         2.90         2.90           PVC Book Wrapper Roll 13.5 Inch x 10M         1         5.50         5.50           Textbook & Workbook Cover for Primary 5 & 6         1         13.60         13.60           A4 Plastic Whiteboard Set         1         4.90         4.90           7 in1 Color Plastic Fastener         1         1.70         1.70           Pilot Back To School Set 2026 Primary (UP TO: \$14.93)         1         7.60         7.60           Sock- Plain Size L         3         2.50         7.50           Sock- Plain (Pr) Size XL         3         2.50         7.50	Total amount for Section B =				
Items         QTY         Tick         Price\$         Total\$           A3 20 Pockets Clear Holder         1         8.30         8.30           A3 Art Bag         1         9.90         9.90           Apron (Dark Blue)         1         6.50         6.50           Staedtler Safety Scissor (UP: \$2.10)         1         1.70         1.70           Edu3 Nylon Student Artist Art Brush X3 (Size R6, R10, F22) In Polybag         1         6.90         6.90           PP A5 Exercise Book Cover (10pcs)         1         2.90         2.90           PVC Book Wrapper Roll 13.5 Inch x 10M         1         5.50         5.50           Textbook & Workbook Cover for Primary 5 & 6         1         13.60         13.60           A4 Plastic Whiteboard Set         1         4.90         4.90           7 in1 Color Plastic Fastener         1         1.70         1.70           Pilot Back To School Set 2026 Primary (UP TO: \$14.93)         1         7.60         7.60           Sock- Plain Size L         3         2.50         7.50           Sock- Plain (Pr) Size XL         3         2.50         7.50					
Items         QTY         Tick         Price\$         Total\$           A3 20 Pockets Clear Holder         1         8.30         8.30           A3 Art Bag         1         9.90         9.90           Apron (Dark Blue)         1         6.50         6.50           Staedtler Safety Scissor (UP: \$2.10)         1         1.70         1.70           Edu3 Nylon Student Artist Art Brush X3 (Size R6, R10, F22) In Polybag         1         6.90         6.90           PP A5 Exercise Book Cover (10pcs)         1         2.90         2.90           PVC Book Wrapper Roll 13.5 Inch x 10M         1         5.50         5.50           Textbook & Workbook Cover for Primary 5 & 6         1         13.60         13.60           A4 Plastic Whiteboard Set         1         4.90         4.90           7 in1 Color Plastic Fastener         1         1.70         1.70           Pilot Back To School Set 2026 Primary (UP TO: \$14.93)         1         7.60         7.60           Sock- Plain Size L         3         2.50         7.50           Sock- Plain (Pr) Size XL         3         2.50         7.50	C. Optional Items				
A3 20 Pockets Clear Holder       1       8.30       8.30         A3 Art Bag       1       9.90       9.90         Apron (Dark Blue)       1       6.50       6.50         Staedtler Safety Scissor (UP: \$2.10)       1       1.70       1.70         Edu3 Nylon Student Artist Art Brush X3 (Size R6, R10, F22) In Polybag       1       6.90       6.90         PP A5 Exercise Book Cover (10pcs)       1       2.90       2.90         PVC Book Wrapper Roll 13.5 Inch x 10M       1       5.50       5.50         Textbook & Workbook Cover for Primary 5 & 6       1       13.60       13.60         A4 Plastic Whiteboard Set       1       4.90       4.90         7 in1 Color Plastic Fastener       1       1.70       1.70         Pilot Back To School Set 2026 Primary (UP TO: \$14.93)       1       7.60       7.60         Sock- Plain Size L       3       2.50       7.50         Sock- Plain (Pr) Size XL       3       2.50       7.50		QTY	Tick	Price\$	Total\$
A3 Art Bag       1       9.90       9.90         Apron (Dark Blue)       1       6.50       6.50         Staedtler Safety Scissor (UP: \$2.10)       1       1.70       1.70         Edu3 Nylon Student Artist Art Brush X3 (Size R6, R10, F22) In Polybag       1       6.90       6.90         PP A5 Exercise Book Cover (10pcs)       1       2.90       2.90         PVC Book Wrapper Roll 13.5 Inch x 10M       1       5.50       5.50         Textbook & Workbook Cover for Primary 5 & 6       1       13.60       13.60         A4 Plastic Whiteboard Set       1       4.90       4.90         7 in1 Color Plastic Fastener       1       1.70       1.70         Pilot Back To School Set 2026 Primary (UP TO: \$14.93)       1       7.60       7.60         Sock- Plain Size L       3       2.50       7.50         Sock- Plain (Pr) Size XL       3       2.50       7.50					
Apron (Dark Blue)       1       6.50       6.50         Staedtler Safety Scissor (UP: \$2.10)       1       1.70       1.70         Edu3 Nylon Student Artist Art Brush X3 (Size R6, R10, F22) In Polybag       1       6.90       6.90         PP A5 Exercise Book Cover (10pcs)       1       2.90       2.90         PVC Book Wrapper Roll 13.5 Inch x 10M       1       5.50       5.50         Textbook & Workbook Cover for Primary 5 & 6       1       13.60       13.60         A4 Plastic Whiteboard Set       1       4.90       4.90         7 in1 Color Plastic Fastener       1       1.70       1.70         Pilot Back To School Set 2026 Primary (UP TO: \$14.93)       1       7.60       7.60         Sock- Plain Size L       3       2.50       7.50         Sock- Plain (Pr) Size XL       3       2.50       7.50		1		9.90	
Staedtler Safety Scissor (UP: \$2.10)       1       1.70       1.70         Edu3 Nylon Student Artist Art Brush X3 (Size R6, R10, F22) In Polybag       1       6.90       6.90         PP A5 Exercise Book Cover (10pcs)       1       2.90       2.90         PVC Book Wrapper Roll 13.5 Inch x 10M       1       5.50       5.50         Textbook & Workbook Cover for Primary 5 & 6       1       13.60       13.60         A4 Plastic Whiteboard Set       1       4.90       4.90         7 in1 Color Plastic Fastener       1       1.70       1.70         Pilot Back To School Set 2026 Primary (UP TO: \$14.93)       1       7.60       7.60         Sock- Plain Size L       3       2.50       7.50         Sock- Plain (Pr) Size XL       3       2.50       7.50	· · · · ·	1			
Edu3 Nylon Student Artist Art Brush X3 (Size R6, R10, F22) In Polybag       1       6.90       6.90         PP A5 Exercise Book Cover (10pcs)       1       2.90       2.90         PVC Book Wrapper Roll 13.5 Inch x 10M       1       5.50       5.50         Textbook & Workbook Cover for Primary 5 & 6       1       13.60       13.60         A4 Plastic Whiteboard Set       1       4.90       4.90         7 in1 Color Plastic Fastener       1       1.70       1.70         Pilot Back To School Set 2026 Primary (UP TO: \$14.93)       1       7.60       7.60         Sock- Plain Size L       3       2.50       7.50         Sock- Plain (Pr) Size XL       3       2.50       7.50		1			
PP A5 Exercise Book Cover (10pcs)       1       2.90       2.90         PVC Book Wrapper Roll 13.5 Inch x 10M       1       5.50       5.50         Textbook & Workbook Cover for Primary 5 & 6       1       13.60       13.60         A4 Plastic Whiteboard Set       1       4.90       4.90         7 in1 Color Plastic Fastener       1       1.70       1.70         Pilot Back To School Set 2026 Primary (UP TO: \$14.93)       1       7.60       7.60         Sock- Plain Size L       3       2.50       7.50         Sock- Plain (Pr) Size XL       3       2.50       7.50					
PVC Book Wrapper Roll 13.5 Inch x 10M       1       5.50       5.50         Textbook & Workbook Cover for Primary 5 & 6       1       13.60       13.60         A4 Plastic Whiteboard Set       1       4.90       4.90         7 in1 Color Plastic Fastener       1       1.70       1.70         Pilot Back To School Set 2026 Primary (UP TO: \$14.93)       1       7.60       7.60         Sock- Plain Size L       3       2.50       7.50         Sock- Plain (Pr) Size XL       3       2.50       7.50	· · · · · · · · · · · · · · · · · · ·				
Textbook & Workbook Cover for Primary 5 & 6       1       13.60       13.60         A4 Plastic Whiteboard Set       1       4.90       4.90         7 in1 Color Plastic Fastener       1       1.70       1.70         Pilot Back To School Set 2026 Primary (UP TO: \$14.93)       1       7.60       7.60         Sock- Plain Size L       3       2.50       7.50         Sock- Plain (Pr) Size XL       3       2.50       7.50					
A4 Plastic Whiteboard Set       1       4.90       4.90         7 in1 Color Plastic Fastener       1       1.70       1.70         Pilot Back To School Set 2026 Primary (UP TO: \$14.93)       1       7.60       7.60         Sock- Plain Size L       3       2.50       7.50         Sock- Plain (Pr) Size XL       3       2.50       7.50					
7 in1 Color Plastic Fastener       1       1.70       1.70         Pilot Back To School Set 2026 Primary (UP TO: \$14.93)       1       7.60       7.60         Sock- Plain Size L       3       2.50       7.50         Sock- Plain (Pr) Size XL       3       2.50       7.50					
Pilot Back To School Set 2026 Primary (UP TO: \$14.93)       1       7.60       7.60         Sock- Plain Size L       3       2.50       7.50         Sock- Plain (Pr) Size XL       3       2.50       7.50					
Sock- Plain Size L         3         2.50         7.50           Sock- Plain (Pr) Size XL         3         2.50         7.50					
Sock- Plain (Pr) Size XL         3         2.50         7.50	, ,				
	SOUR FRANCE OF SECURE		for Sec		84.50



## HENRY PARK PRIMARY SCHOOL PRIMARY 6 (GEP) STATIONERY LIST FOR YEAR 2026

P6 (GEP)

Name of Pupil:	Class:	

Website Launch Date: 11/11/2025

Website Closing Date: 13/12/2025 (Subject to slot availability)

**Home Delivery** 

Please purchase online at www.pacificbookstores.com.

Payment via VISA/ MASTERCARD/ Debit Cards/ PayNow. Delivery charge of \$14.90 applies.

## **Self Collection**

You are welcome to place your order online via our website: www.pacificbookstores.com. Collection can be done at the school on stipulated dates given on the website.

You are strongly encouraged to pre-order to avoid long queues and enjoy shorter waiting time. Payment is required upon ordering online via VISA / MASTERCARD / Debit Cards / PayNow.

## Walk-In Sales

Not Applicable

Please be informed that all purchase of books and stationery can only be made via our online website:www.pacificbookstores.com.

· · · · · · · · · · · · · · · · · · ·								
20/11/2025	Thu	Collection for Online P1 only	09/12/2025	Tue	Collection for Online Order	19/12/2025	Fri	Collection for Online Order
01/12/2025	Mon	Collection for Online Order	10/12/2025	Wed	Collection for Online Order	22/12/2025	Mon	Collection for Online Order
02/12/2025	Tue	Collection for Online Order	11/12/2025	Thu	Collection for Online Order	23/12/2025	Tue	Collection for Online Order
03/12/2025	Wed	Collection for Online Order	12/12/2025	Fri	Collection for Online Order	26/12/2025	Fri	Collection for Online Order
04/12/2025	Thu	Collection for Online Order	15/12/2025	Mon	Collection for Online Order	29/12/2025	Mon	Collection for Online Order
05/12/2025	Fri	Collection for Online Order	16/12/2025	Tue	Collection for Online Order			
08/12/2025	Mon	Collection for Online Order	17/12/2025	Wed	Collection for Online Order			

Operating Hours: Mon-Fri: 9am to 3pm, Sat: Close

Please avoid Lunch time (12.00pm to 1.00pm)

Books supplied by Pacific Bookstores Pte Ltd. Tel: 69298012 Email: sales@pacificbookstores.com

<sup>&</sup>quot;A one-time packaging fee will be applied to all orders (\$0.10 for plastic, \$0.90 for reusable) unless the customer opts to Bring Their Own Bag (BYOB)."